SEHRTIEETERMEE
B 97¢4)%;2EI %1#:—5

3 RENERR TEFIZEE BEEE &

= i THERSE RIESE

WopmmmnE 2 - ws () kEmp DR (@48%) - o (A T)
X (m) yr

EALERITE T TR 440 45431 FIGRRSIM 45431 fEmE 127,427,140 3 vIEFRRRL 130,427,140
2. E4E4 127,500,000

ELRRIAIET FEA 440-1 18351 FTEHESER 18351 (FERE 3.M5E4E 127,888,000
EILRRFIET HE 440-8 189.77 FREESEL 18977 (F=E[E
EJCERHIET FEB 440-10 24875 FAEMESES 24875 BRI
1 EALERETET AEEL 440-13 265 FTEESES 265 EISMA
EICRRFRIET HA 441 15263 FRAEESE 15263 EXE
ELRRHETET A 4412 1537 FTERESREE 1537 RERE
ELRRETET A 441-4 3411 FAEERE 3411 ERAM




]

e
o AL

BT

E=Bld
HET

=8 T IR ¢

TﬁF%ﬁ@

REERTR

15

—

A

5/

INER | HbER

440-3

M EEE

. i
M) | EEES

(m)

262.85 FTEHESLES 262.85

97$4H 22EI % 2#“

I £ B (T o
RS E ;ﬁfﬁz i; RESE
(EpBE) ull=ky & (L /7T
JT) 2

(S

20,037,056 3 1.255E4 20,100,000

2.M5E4 20,168,000
v 3.5FERZ L 22,386,573

=

Tl




| ERTMSRITRETERMME

07FAF22E & 3iE

REEER il 5

o . T THER D E TEKEE = KIZEEEE
B e wer (M) e DR (s @Gak/T (A /)

EhE () #

— 9,585,293 3 1. M54 9,588,000

fﬂj__f HEAR 440-9 15591 FREHESEE 15591 EERMAH v 2.3TRR L 11,185,298

HET 3.2 %4 9,600,000
3

EALH HEAR 440-12  1.52 FAEESRE 152 HEEE

G




BB HMIRITRETEREHRE

="y

97%F4H 52 -] 1‘%

RENEER HEF 5/E %
" = i HERSE  EEEE f; RS
os | BET 2 = YN Faxs [N e
R o e wm ) s TR @EEEE) Gam/D) B/ 7T)
] (m)
5,050,994 3 v 1.3 8t 6,050,994
4 . TR 440-6 66.79 FIEHESEE 6679 {FEE 2.P1UEEE 5,168,000

3.55%4 5,100,000

" =
HIET




